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(2) & 2= §(x) E 2o WFELE 20 = x0) sy = [(2) T = AEFELE, W E AR
y = flp(2)] 2 2o ALFELE. B MLARYL T 5 & BRI R I lim [ f (¢(2) T] = fTlime(z) ],
(3) BE y = f(2) #E[a,6] LH{E BHELE H (@) = o, f(B) =B,z = o(y)
(@, 8] bR BIAEGER. fstif T RERBCRBR .
(4) 7% 50 MO7E H 5 SCIXC ] P AR S S A0 G SRAE “IX [R]” $ah “1807, G5 am e 2
4. T R P X b 2 % bR M A T TR
(1D FX. F/MEEH.
TEH XA (e, 0] LESERE f(2) T K [0 Z RS HKE , B/MEE— K
(2) MMEE 2
B f(2) #Ela,b] L#4E, H (@) # FB) UM TF f(a) f(B) Z[AME—EEC,. ZLH
| —KLE (@b ff O = |
RS0 (@) « fB) <0, MEFKE (a,0) HELH— K LLHER/R SO = 0.

]

148 f(2) 7 2 G NS (@) ] F 2o WHEL. & F(2) 7 2o RGNS ()] FE o WAL X
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f(x)
g(x)



Pt B X G 7

2.9 f(2) 7E zo B 8(2) 7 2o FELE, ] f(2) + g(2),f(2) + g(2) T 2 REEL?
3.3 £(2), () T 2o BAELGE . f(2) + g(2), f(2) - g(2) = %Eﬁﬁ’

4. R f(2) #la,b] WL N (a,6) W B R E A /ME AR EREER?
5.4 Kt ﬁﬂ%_ll_r:lf(u) A, Xxlg_tfﬂx) uy FRZ ’ﬁllmf[«P(x)] llr::f(u) A, 3G9

6. ERREHEH y = U] mmm;rm—mw 31 70

=.GlESH
1. WHE T 7 R B A E S 1
& oo JEBEL (g, e .
Q) f(z) = { lz[, , (@) fo) = {e z#0,
1, x = 0. 0, z = 0. ‘ \
% s W 2 > 0B, f(;)—ii—x
W < 0B, f(z) ——ﬂg‘—’,

LMz OB S () L. ,
e hm f(z) = lim (_ %r)=_ 1, llm f(x) = lim sinz _ 1.

+ X

0" =0t =0

1m f(z) # llm f(x),

=0t

f(x)EI—OﬁEZ(i!Eﬁ BT
Eﬂ z = 0% f(x) §RIHF ﬁﬂﬂ]ﬁﬁﬁfﬁlﬁ?,ﬁ-

(2) %4 z# O0Ht, f(x)=¢" 4 L.

=
=

ol

X - hm flx) = hm flx) = hme

o FCD 2= o0, - 0o) HEELE.
b it 4 B AR R ERY S i 4 B B A IR A A

=10 =f(0)‘,

E’Jﬁﬁ%’é& A EHT A %%%Eéﬂ
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2. 3R T3 iR B AR PR

D) limarctg< Sli-t) 5 (2) im(1 + sinz)®&,
=0 x 0
sin®x — 3sinz + 2 8cos’xr — 2cosx — 1
(3l soif sin‘z — 4sinz + 3’ (4) l = Jeokta HHiges s 1

o i SO _
- lrlirg 3 s
., i sinz) _ _r
ot lirgarCFg( x )—— arctgl‘ 7 G
(2) ﬁ:ﬁhn;(l + Sinz)iﬁ‘n—z"“’ == hn’;[(l + Sinx)#]cm = 7
(3) Eszt = lim (sinz — 1) (sin’z + sinz — 2)

X « (sinz — 1) (sin’x + sin’x + sinx — 3)




